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i BRERZED—H
i mzwAE W6 3E4A130
i KREAN ZANKRMMAL LTOAERE
R 0 B MK (SRUENM 5RE £HRRA
: RENR Q4 373 (K3 A~4.2ca, 4.8~5.0ca. 5.5~6.3ca) F 1R
: *x 1 NEOH®
: N 8 NO.1  NO.2  NO.3 NO.4  RNO.5 RIZE N0O.1 NO.2 NO.3 NO.4  NO.S
& MR M@ MR M& MR 4138 15:00 = - = = =
i 25 S8R AR KR S8 =8 18:00 » = » = »
pH 6.14 6.8 6.07 6.08 6.42 4HI4E 8:00 - - ™ IRE =
' RpH 7.3 7.44  7.47  7.66  17.98 12:00 = = n = =
EC  u/a 82 91 100 102 160 18:00 " n = = =
cOD m/i 0.02 0,02 0.26 0.57 0.75 4FI58 8:00 = - ®x IRE =
Ss /8 0.1 <0.1 <0.1 0.1 «0.1 12:00 = » » = =
Ni—N  me/8 €0.01  <0.01 <0.01  0.02 <0.01 18:30 IRE = I1RE = »
N, -N  ag/8 <0.001 <0.001 <0.001 <0.001 0.003 45168 8:00 - = f ] =
N, —N  me/R 1,00 >1.00  0.27  0.26 >1.00 13:00 = - F x -
PO, ~P  me/B 0.011 0.015 0.015 0.018 0.008 45178 12:30 = = = - =
ce w/8 9.2 10.5 10.7 10.8  13.1 17:00 » = » ” E 3
T-Fe  ng/8 0.30  0.13  0.33 1.73  0.02 45188 8:30 = = = IRE =
s—Fe  m/8 0.28  0.08  0.31 1.56 <0.01 15:00 = = = - =
-t we/8 0.05 0.03 0.21 0.40 0.03
S—Mn  me/8 0.04 0,02 0.20 0.38 0.03
H.S /8 ¥ ) ND N ¥
: 30 m 27 27 28 2 5~6
: xa < 13.8 142 4.5 147 13.5
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